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2018 April New Cisco 200-310 Exam Dumps with PDF and V CE Just Updated Today! Following are some new 200-310 Real
Exam Questions:1.|2018 L atest 200-310 Exam Dumps (PDF & VCE) 608Q
Download: https://www.braindump2go.com/200-310.html 2.|2018 Latest 200-310 Exam Questions & Answers
Download:https://drive.google.com/drive/folders/OB75b5xY Lj SSNbmNsWnFEczRBdUO?usp=sharing QUESTION 127A customer
requests a filtering design based on the need to scan all internet traffic, including remote workers. What solution meets these
requirements?A. Cisco Cloud Web SecurityB. Cisco Network Admission ControlC. Cisco Identity Services EngineD. Cisco
Adaptive Security ApplianceAnswer: AQUESTION 128A customer wants to support a BY OD environment. What two products
allow for posture assessment? (Choose two.)A. ACSB. NACC. ASAD. ISEE. WAASF. IDSAnswer: BDQUESTION
129What two CoS values are used by voice traffic? (Choose two.)A. COS1B. COS2C. COS3D. COS4E. COSbHAnswer:
CEQUESTION 130A client wants to deploy a video conferencing platform in amultisite WAN environment. What two design
considerations need to be evaluated? (Choose two.)A. CODECSs supported by the video unitsB. buffer sizes on the routersC.
POE capabilities of the switchesD. number of current callsE. number of hops between sitesAnswer: ADQUESTION 131What
wireless authentication option requires a Public Key Infrastructure?A. EAP-TLSB. PEAPC. LEAPD. EAP-FASTAnswer: A
QUESTION 132What two access point modes support the transmission of user traffic over aLWAPP/CAPWAP tunnel ? (Choose
two.)A. localB. H-REAPC. roguedetectorD. monitorE. snifferF. standaloneAnswer: ABQUESTION 133What isthe
primary advantage of implementing awireless LAN controller in awirelessLAN design?A. roaming between APsB. RADIUS
user authenticationC. radio resource managementD. accelerated data transferAnswer: CQUESTION 134A wireless LAN client
is sending traffic to the wired LAN client. What path will the packet take to reach the destination endpoint in alightweight wireless
deployment?A. switch > controller > ap > clientB. controller > ap > switch > clientC. ap > controller > switch > clientD.
switch > ap > controller > clientAnswer: CQUESTION 135What Cisco product is designed to improve the performance of
Windows file and exchange services in remote data centers?A.  Application Control EngineB.  Wide Area Application ServicesC.
Cisco Application Policy Infrastructure ControllerD.  Cisco Prime Network Services ControllerAnswer: BQUESTION 136Which
design is the recommended geometric design for routed topologies?A. linearB. triangularC. rectangularD. circularAnswer: B
QUESTION 137Which statement describes an advantage of the Layer 2 access model over the Layer 3 access model in the data
center?A. It enables NIC teaming.B. It removes STP dependency.C. It increases scalability.D. It decreases convergence.
Answer: AII'RECOMMEND!!!1.]2018 Latest 200-310 Exam Dumps (PDF & VCE) 478Q
Download: https://www.braindump2go.com/200-310.html 2.[2018 Latest 200-310 Study Guide Video: YouTube Video:
Y ouTube.com/watchv=RZM@9Y SAjHs
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